» 164 62 (EHd) SUE(HE) 64 68 (+H) EUE(FAH) SECHEY) TEHIHEAH) EHELE)
e = A = 2 = A = 2 = A = 2 = = 15 164 154 164 Ehg =
ez Fstol 85,761 68,173 -9.8 4.9 498,969 400,941 -11.8 2.0 1.46 1.26 1.44 124 -14.0 -13.5
XA 7 50| 5,380 1,019 4.9 8.4 40,151 7,525 58.9 65.1 5.46 5.28 5.54 5.34 -3.2 -3.7
A 735to| ] 91,141 69,193 -9.0 5.0 539,120 408,466 -8.7 2.7 1.52 1.32 1.49 1.32] -13.4 -11.2
HAMFAL 18,897 49400 -27.4 -30.9 108,236 29,609] -27.0 -25.0 3.64 3.83 3.75 3.66 5.1 -2.6
-AA 3 0 -88.2 -99.4 223 12 1281 -48.8 1.26 23.06 4.05 18.04] 1,729.1 3452
- BA 3,748 214 435 53.1 16,734 1,104 36.6 53.2 18.70 17.54 16.99 15.16 -6.2 -10.8
- HA 13,040 4,345 -38.1 -32.1 79,688 26,596 -25.9 -8.9
- oA 2,106 381 -9.6 -36.0 11,591 1,896 -34.0 41.2
ol z= =t 83,125 27,132 -8.3 2.4 515,381 168,777 5.3 -10.5
A=MF 9,339 1,800 -2.9 11.6 49,571 8,975 11.3 -13.0
AR 111,361 33,872 -11.9 -3.9 673,188 207,361 -0.2 -8.3
HxE 4,722 32 —-24.1 —47.6 31,815 209 -33.9 44.8
R SEy 8,065 334 14.0 27.4 28,061 1,044 31.6 -10.5
A= 33,543 2,966 -7.9 -5.0 175,300 15,112 -7.6 -3.1
I=Z REE 180,877 15,264 -7.0 -1.2 940,565 83,584 -5.9 -5.9
= REE 29,792 2,802 -18.7 -9.8 154,368 14,157 -4.5 -9.9
HAE 292,425 38,605 -3.9 3.2] 1,635,671 216,080 -1.7 -6.9
7|EHEl = 144,963 20,035 -5.0 2.4 918,547 120,325 -2.5 -2.7
AER 694,387 80,038 -5.9 0.1 | 8,884,327 450,510 -3.0 -6.0
ol F 177,506 8,940 -3.6 13.9 896,404 44,642 4.9 -15.4
- HAH 2o F 79,159 3,807 -2.4 141 446,526 20,999 6.0 -14.5
AEHF 95,957 5,121 -4.0 13.9 440,875 23,598 4.0 -15.7
-&o|R® & 7|Et 2,391 11 -24.9 -12.5 9,003 45 -28.4 -14.2
Bt 47 E 122,777 38,377 0.7 4.1 735,581 216,566 4.1 -3.3
HEF 300,283 47,316 -1.9 5.9 1,631,984 261,208 4.2 -7.4
o 75 Al 1,197,172 230,419 -5.8 2.1 6,728,619| 1,327,545 0.5 -7.7




164 68 MRF 22 SN (M)
EHl HE, B, %, $/kg
- . 6 68 () Z2E(2Y) 16 68 (A SUE(RA) +QIEhr () 2 QAERTH(EA) CIHEZE)

. Z o = Z o 22 Z o 22 2o 22 154 e 544 64 el A
ol=MRstoly 4,941 2,754 -18.3 -14.7 29,889 17,759 -15.1 -0.0 1.87 1.79 1.98 1.68 -4.2 -15.1
MM F=hol e 12,822 4,420 28.4 31.2 66,235 21,801 5.2 5.1 2.97 2.90 3.03 3.04 -2.2 0.1
A 735Ho]H 17,763 7,174 10.8 8.7 96,125 39,560 -2.1 2.7 2.43 2.48 2.55 2.43 1.9 4.7
MAM FAL 54,963 13,846 -3.0 -0.8 283,986 76,870 -8.8 -2.0 4.06 3.97 3.97 3.69 -2.2 -6.9
— AAt 935 15 4.8 1.3 5,690 103 -8.3 -1.8 8.76 60.78 59.08 55.17 3.4 -6.6
— BA} 9,780 278 53.0 49.0 26,146 999 34.0 38.4 34.25 35.17 27.02 26.16 2.7 -3.2
— A} 40,523 12,782 -9.5 -0.6 219,329 69,689 -13.0 -3.3 3.48 3.17 3.50 3.15 -9.0 -10.0
— OfAL 2 7| ELAL 3,725 770 -18.2 -14.0 32,821 6,077 -2.1 9.1 5.08 4.84 6.02 5.40 -4.8 -10.3
QI =M RAL 65,094 30,434 -13.3 1.1 404,117 179,082 -12.2 0.6 2.49 2.14 2.59 2.26 -14.2 -12.7
Q=M R AL 42 864 16,048 16.9 25.0 213,425 79,679 7.6 18.1 2.86 2.67 2.94 2.68 -6.5 -8.9
N 162,921 60,327 -3.2 6.0 901,528 335,631 =71 3.6 2.96 2.70 2.99 2.69 -8.7 -10.3
HAE 3,120 34 -24.2 -22.6 20,769 229 -17.7 -13.7 93.83 91.90 94.99 90.60 -2.1 -4.6
DAE 15,064 253 1.2 -3.3 44,321 732 39.0 10.2 56.80 59.43 48.06 60.58 4.6 26.1
HE=Z 28,899 5,829 -11.2 -3.9 177,324 36,618 -15.4 -6.1 5.37 4.96 5.37 4.84 -7.6 -9.9
=M RAE 16,168 2,984 -24.4 -20.8 90,515 16,875 -13.6 -11.8 5.68 5.42 5.48 5.36 -4.5 =21
=M RAE 16,693 3,685 1.1 4.6 98,293 24,128 0.7 9.7 4.68 4.53 4.44 4.07 -3.3 -8.2
HAZ 13,515 1,627 -0.7 1.3 57,561 7,750 6.9 6.4 8.47 8.30 7.39 7.43 -2.0 0.6
J|EtRlE 70,809 15,835 8.7 14.5 418,792 93,739 4.8 11.2 4.71 4.47 4.74 4.47 -5.1 -5.8
XEF 164,268 30,248 2.4 3.9 907,574 180,070 -1.6 4.3 5.78 5.43 5.34 5.04 -6.1 =5,7/
oF 463,264 20,276 0.9 6.8 3,466,712 146,751 2.6 8.4 24.18 22.85 24.97 23.62 -5.5 -5.4
- HAH el /7 208,957 9,483 12.7 21.0 1,380,707 63,637 10.8 18.9 23.65 22.03 23.28 21.70 -6.8 -6.8
- N EH el /7 245,780 10,715 -6.8 -3.1 2,052,344 82,651 -2.1 1.6 23.85 22.94 25.78 24 .83 -3.8 -3.7
- §o|7 2 J|Et 8,527 77 -14.8 -18.4 33,661 464 -11.3 -13.0 105.69 110.30 71.28 72.62 4.4 1.9
et M RHE 187,776 33,805 -3.1 57 1,128,416 187,711 3.0 11.8 6.06 5.55 6.53 6.01 -8.3 -7.9
HER 651,040 54,081 -0.3 6.1 4,595,128 334,462 2.7 10.3 12.81 12.04 14.76 13.74 -6.0 -6.9
MFF 2 995,991 151,830 -1.0 5.7 6,500,354 889,723 0.5 6.1 7.00 6.56 7.71 7.31 -6.3 =53}
Fo =X 201,181 -24.0 228,265 -68.8




